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ECONOMICS
( Major )
Paper :2.2
( Macroeconomics—II )
Full Marks : 80
Me : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
wTe fRal 2pTgRa Ted v e
(a) What is the most common method of
measuring inflation?
TP ETHT SHRSL TR & ¥ 2
(b) Choose the correct answer :
w5 eIt IR Sfere :

A decrease in the interest rate will
increase the level of investment spending
since, the cost of borrowing will decrease/
the value of government bonds will
decrease.

TR TR Fe1 Rivcnm R0 3@ v fezp
YT I ZPT I /53R 399 o0 I 4w |
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(c)

(@)

(e)

8A/T717

(2)

Choose the correct answer :

= Teacl AR Sfeed ¢

The IS curve gets flatter as, money ‘
demand becomes less sensitive to
changes in the interest rate/the
marginal propensity to save decreases.
IS ¥ers vE ¥ =W, Ry e 79w
MRS 2fe 7 vfem SR w9 21 /e
2feF 237 (2reren) Zp7 o1 |

Choose the correct answer :
W% TECoT IR Sfereay :

Which of the following does not cause
inflation?

=TS fTH1 (TCO! J@rRfes IRl o2y 2
(i) Increased taxes

fas 59

(i) Increased government expenditure

S 379 A

Fill in the blank :

According to Keynes, demand f,
arises out of ____ motives,

@Eﬁaw,msﬁm___
q |

I money

SR *[ Ty

{ Continued )

(9)

()

i

8A/T17

(3)

Which phase of business cycle occurs

- when aggregate economic activity hits its

lowest point?

afew STTerE wafss e Fae 23,
cofe A B (PG SRS IR 2

Choose the correct answer :
% TEqco! MR B ¢

The value of money and the price level
are related

T o S T G SR TAE

(i) inversely

oot

(i) directly -
GF3

What does a vertical IS curve mean?

o Berg IS @R & o ?

State one similarity between Fisherian
version and Cambridge version of
quantity theory of money.

YU R ogd e OE @S R <O
S SeEd 40
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(c)

(@)

(e)

8A/717

(2)

Choose the correct answer :
% T MR e ¢

The IS curve gets flatter as, money
demand becomes less sensitive to
changes in the interest rate/the
marginal propensity to save decreases.

RS o TR OIRE SRR W /e
2R 23R8 (zraerer) ZFT o 1

Choose the correct answer :

o7 TSI iR %ﬁ@ :

Which of the following does not éause
inflation?

TS T R TSI I 727 2

() Increased taxes

o=

() Increased government expenditure
RS 51 I
Fill in the blank :
o 1R o = ;

Aczcording to Keynes, demand for money
arises out of ____ motives,

?W’WW‘WWWW
¥l

[ | ( Continued )

8A/T1T

(3)

() Which phase of business cycle occurs

. when aggregate economic activity hits its
lowest point?

afem ST AT THeE fFiwey =,
cofa e 5 (FCHT SRR PR ?

(g) Choose the correct answer :
% Tehr MR fere -
The value of money and the price level
are related

1 0 S T T e FoF

(i) inversely

R
(i) directly -
(h) What does a verti_cal IS curve mean?
o Bo77 IS (TR ¥ @ ?

() State one similarity between Fisherian
version and -Cambridge version of

~ quantity theory of money.
o AR ol ey I @G M b1
g BrEy 90 |
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(4) - . (5)

State the normal relationship that exists
between liquidity preference and rate of
interest. What is liquidity trap?

gl () State the relationship between quantity ’ “@
| of mone:y. and general price level in
. transaction approach of quantity theory

 of money. .o oo A WF TE TW A& 7 TR
| T R o AW e (R TS SRy 1 | O K 7
f kS 2’?‘! F YRT W TR T TE (e) Defineinflation.
| TSR SR far |
2. Answer the follow
Oll 1 . = -
& gy g;ng questions : 2x5=10 3. Answer the following questions : 5x4=20
T ( TRV o i - | wetS il 2PIART By i
9 What is 15 | '
S ) curve? (a) “Inflation is unjust, deflation is
ALY | I inexpedient, of the two deflation is
% 5 worse.” Explain.
| ) Howis the Ly curve derived from money “Erdfs XA TR, SR T e,
Market? ' | DR Pee SRS (IR I 1”7 e 34
T TS LM o et e 7 Y ' Or /72
© ‘ ’ How can the inflationary gap be wiped
(¢ 1 . '
y Wh at does p =% in Fisher’s equation 9‘“? o IR
of TP FF (TS SO M ?
by exch?nge mean? What is meant .
qu velocity of circulation in Fisherian (b) Explain the relationship between
antity theory of money? o speculative demand for money and rate
: f interest.
R Rferm phic MV °
o p="" ?
. 7 O &P T TR DT S T TR T o
v T AR g apom @R T sk '
8Af717 | 8A/717 (Tum Over)
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(6)

(c) State the factors that determine the

(@

slope and posmon of the LM curve.

LM@mewﬁmqw

ToTPTR BCE 1 |

or / 7

Explain the effect of cut'in taxes in the
level of income. Use diagram of IS-LM
curve. :

Y faRee 39 ZPR oK R s, 1S-LM
@RI FFS [ 4 |

Explain the characteristics of business

- cycle.

mmhﬁﬁmﬁwwn

4. Answer the following questions : 10x4=40
OIS fA ereqRe B fian

(@)

8A/717

Explain different phases of business
cycle with the help of Hawtrey’s
monetary theory.

- A (Hawtrey) At oW e 1fieg

5% RfSw we=IEm 04 741 1

( Continued )

(b)

(c)

8A/T717

‘L‘

(7)

Or / 7231

“True inflation may be said to begin
when the elasticity of the supply of
output in response to changes in the
supply of money falls to zero.” Discuss.

“fem R @R RIS oS SeomR
@R RfSmeer Yt it wwy, cofem
7S JUFRIS SRS 2 1”° e 4T |

Critically explain the Fisher’s version of
quantity theory of money.
R AR oW R Wweadm
SRICATGETE AT 41 |

Or/ g

Discuss the features of IS and LM curves.
Explain the role of IS and LM curves in
the determination of equilibrium rate of
interest and level of income.

IS 9F LM @IR CIFBRIE SCam=l 37 |
IS 9 LM @R R s i ue
SR S AR P, 0000 0

Write short notes.on :
12 (o1 forat
(i) Structural inflation
T S
(i) Keynesian approach of quantity
theory of money
R TER RS ©F
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(8) ]

or /

Discuss how Hicks’ theory of business
cycle explains the cyclical fluctuations in
the economy.

.W AYem. v TER wHAfeT  vERe
ARSI’ Fe i1 FRCz, SCAw
01

(d) Explain the effects of inflation on output
and income distribution.

e e Ree oS WrPRR gz
RS I

Or / 7

How Cambridge version of quantity
theory of money is superior to Fisherian
approach? Explain briefly.

@IS R RAIS Sgol FRT gels
FCTCI TH© ? TP [ 90 |

* % %
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